-

T
i
(&ER& ARy DEE]
o M11.4X3.5%1/2=19.95 m
222.0X8.4X1/2=92.40 m
(318.4x8.4X1/2=71.28 i i R
Bat=a DO+@+3=189.63 M ¢ ° — T B T aE i
T - 1 - i45US4, GAB| 47782 328 AT
Sesbst 146038, 138] 47760044  19.890] K53
iia TA46030.911| —4/750.416)  62.630] fud
| ~12500%, 877 47692 385 1533 W%E |
| 1356000 226 47669 524 5132 Kut
e 145005 E10] 47584 00 LEG | RS
: “Vigale (23] ~7Ee0 be1| 2837 KSR
~11E006, BE2| 47678, 118 2300] k59
146007, 769 | 41616 113 1040]  KS-10
145008, 544 | —ATH]4 56 60| KS-11_ |
—I%6009 042 | 47613 657  O.916| KS-12 |
—[~agoiu. 7oi| -altiLiiel  0.876]  K3-13
T |CeenT 47| 476z 7i2|  1.503] RS-
14001z, 935 | -47672 120 1.670]  fs-18
14074 S8 1 78R 0BT RE-IE
SU4EO{ESTT] AT o) AA B[ RSTT
| NGB0, 134 | aTETEIS| GO UM | K518
=3AG0A], Odz | —A76a0 117 0110 RE=TE
—1aenar. o] M| A%
=960 650 | —a70re Ueh| 3,999 RASOT |
TRV, 158 | ARGTEET| 1001 k17
CMARLI2, 77| —476R0_Bal A5z E-1H
|=T4ET09, E50 | —ATEdE, AET8|  R-10
e [—Wni06. ga% | 47650, 142 FLET|  K=20
—{ 40, 238 | ~47 705, 947 | SLEBL| R-El _
TAEI, J05 | ATPR6. 807 | A MO RS
W W | V00 J4EADY
O . E450 3144000
_— T O T )
4450. 37 m
=1 L ’. 9k : g b - 2
R B =T ".I"“_r“‘-“] ,-’r-/ > 4640. 00 m
1l e
.J ot .cffﬁg&é\./ e
'II' 48-1 - e x & =muse |[T#3)
4] F___.-"_ 4] -'T = - — -
? ﬁmmamﬁm&‘ﬁﬁﬁmfg?— f,,/ N B Bl 2 SEs—RITN ESNBREN)RANESH
RN | - T & b 3w = - — — —y
PR ey T fu / i
S , | AN Mo T @ B
waan ¢ f_/" \ e = N
e -"ﬁ.q:ﬁ_ﬂ_l"? ."e\. /_.r“' \ e i_‘f M .
H \ 1/1
| ol e o -
W g 0 g B RS . iz J = W



IdeshioT
テキストボックス
回答13別紙３

IdeshioT
テキストボックス
堤内地求積資料




